
SAP ABAP table FERC_C2 {Company code dependent parameters}

FERC_C2

MANDT [CLNT (3)]

RUN_ID [NUMC (4)]

BUKRS [CHAR (4)]

GLACCOUNT [CHAR (10)]

PLACCOUNT [CHAR (10)]

IN_ACC [CHAR (10)]

OUT_ACC [CHAR (10)]

STDDEFAULT [CHAR (10)]

STDORDER [CHAR (12)]

VARACTTYP [CHAR (6)]

VARCSTDEF [CHAR (10)]

COBJ_CAT [CHAR (4)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 FERC_C2-STDORDER = AUFK-AUFNR 
0..N

{0,1}

CSKA

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KSTAR [CHAR (10)]

 FERC_C2-STDDEFAULT = CSKA-KSTAR 
0..N

{0,1}

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 FERC_C2-VARCSTDEF = CSKS-KOSTL 0..N

{0,1}

CSLA

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

LSTAR [CHAR (6)]

DATBI [DATS (8)]

 FERC_C2-VARACTTYP = CSLA-LSTAR 0..N

{0,1}

FERC_C14

MANDT [CLNT (3)]

COBJ_CAT [CHAR (4)]
 FERC_C2-COBJ_CAT = FERC_C14-COBJ_CAT 

0..N

0..N FERC_R0

MANDT [CLNT (3)]

RUN_ID [NUMC (4)]

 FERC_C2-RUN_ID = FERC_R0-RUN_ID 
1..N1

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 FERC_C2-GLACCOUNT = SKA1-SAKNR 

0..N

{0,1}

 FERC_C2-IN_ACC = SKA1-SAKNR 

0..N

{0,1}

 FERC_C2-OUT_ACC = SKA1-SAKNR 

0..N

{0,1}

 FERC_C2-PLACCOUNT = SKA1-SAKNR 
0..N

{0,1}

T000

MANDT [CLNT (3)]

 FERC_C2-MANDT = T000-MANDT 

0..N

{0,1}

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 FERC_C2-BUKRS = T001-BUKRS 

0..N

{0,1}


